PART - | : REASONING

. Read the following information
and answer the question which
follows.

‘The upcoming marathon seems
to be an impossible task for me. I
can only run 5 km at a stretch.
Even if I doubt that I would still

not reach half way through the |

marathon’ Rohan.

Which of the

statements can be inferred from

Rohan's statements ?

(1) Any runner who can
complete the marathon can
definitely finish first five
kilometres of the marathon
faster than Rohan.

(2) If Rohan runs four times his
capacity, he would finish the
marathon.

(3) Had the specified time for
marathon been one hour,
Rohan would have completed
it in two hours’ time.

(4) The specified distance of the

upcoming  marathon  is

definitely more than 20 km.
(5)If Rohan runs 5 more

kilometres, he will reach

exactly half way through the
marathon'’s specified
distance.

Directions (2-4) Read the

following information and answer
the given questions.

Q is the brother of P. K is the
‘motherof P. Qis ma:ned toC.Cis

 tho daughtorin-law of L. Pis the

. How is L related to N ?

following |

(5) If both conclusions [ and II are

. Statements :

. Statements
Conclusions : 1. Z>8§
7. Statements :

Vil e s T>R>A>C<K;N<E<C>S>D
b Gun,ﬂlusmns LD <F

DT 3-’::." : -e: E { L g gw S>P>L> } [<T

(4) Daughter
(5) Mother-in-law

(1) Grandfather
(2) Uncle
3) Grandson

[
(4) Son
[

5) Son-in-law |

. If N has only one brother as|

sibling, how is V relatedto Q 7 |

(1) Father (2) Nephew

(3) Uncle (4) Son

(5) Brother

Directions (5-9) : In these
questions, relationship between

different elements is shown in the |

statements. The statements are

followed by conclusions. Study the |

conclusions based on the given |

statements and select the |

appropriate answer. 1

Give answer :

(1) If only conclusion I is true

(2) If only conclusion II is true

(3) If either conclusion I or II is
true

(4) If neither conclusion I nor II
is true

lrue
T >RE>AC=K . N<E<(U>5>0D
Conclusions : 1. S> A
II. K <E
a=L=ll=M: Z=2R>C=M

ILS=2%

II N <R

8.

9.

10.

11.

12.

Conclusions: I.E<P
II.1>E

Conclusions: 1. YT
IL.S>W

Directions (10-14) : Study the

given information carefully to

answer the given questions.

In a certain code language,

‘plot for all persons’ is written as

‘fn bo dl sw’

‘find the hidden plot’ is written as

‘dl et ga nu’

‘try and find out’ is written as ‘ga

yc mp zh’

‘for the lock out’ is written as ‘nu

mp fn v’

(All codes are two-letter codes

only)

If ‘try the key’ is coded as ‘nu ka

yc’ in the given code language,

then how will ‘key and lock’ be

coded as 7

(1) ka bo zh

(2) zh ga ka

(3) Other than those given as
options

(4) bo rv ga

(5) nu zh ka

In the given code language, what

does the code ‘sw’ stand for ?

(1) Either ‘for’ or ‘find’

(2) Either ‘persons’ or ‘all’

(3) hidden

(4) for

(5) plot

Which of the following may

represent the code for ‘find

friends’ in the given code

language ?

(1) bo ga

(2) gacl

(3) in ga

(4) et bo

(5) cl et



13. What is the code for “4or hidden |
pl_ﬂt’ in the given code languagfﬁ 7
(1) fn et dl (2) fn dl bo
(3) ga bo fn (4) mp rv et
(5) dl et ga

14. What is the code for ‘out’ in the
given code language ?

(1) fn . (2) mp |

(3) rv (4) nu

(5) Other than those given as |
options

Directions (15-18) : In these |
questions, twolthree statements |
followed by two conclusions
numbered I and I have been
given. You have to take the given
statements to be true even if they |
seem to be at variance frmh:

commonly known facts and then I
decide whic > given |
hich of the given

conclusions logically follows from |
the given statements disregarding |
commonly known facts. | |
Give answer :

(1) If enly conclusion I is true |
(2) If only conclusion II is true |

(3) If both conclusions I and II are
true

(4) If neither conclusion 1 nor 1T |
1s true |
(5) If either conclusion I or II 15‘

{rue

(15-16) : Statements : Some clouds are |

gates. No gate is a flip-flop. All |
flip-flops are memories. |
15. Conclusions :
I. No cloud is a flip-flop.
[I. All memories can never be
gates.
16. Conclusions : |
I. No gate is a memory.. |
II. Atleast some pgates are|
MEemories.

(17-18) : Statements : All crackers are
parcels. Some parcels are gifts.
No gift is a box.

17. Conclusions :

I. No cracker is a gift.
I1. Some parcels are definitely
not boxes.

18. Conclusions : |

I. All gifts being parcels is a
possibility.
I1. Some boxes are crackers.

19. Statements .: Some chips are
diodes. All diodes are transistors.
Conclusions :

I. Some chips are definitely not

diodes. _

II. Atleast some transistors are
chips. '

20.

21.

22,

23.

Directions (20-24) : Study the
Jollowing information and answer
the given questions.

Seven people, namely, P, Q, R, S,
T, U and V like seven different
cities namely, Agra, Mumbai,
Delhi, Jaipur, Patna, Chandigarh
and Kolkata. Each of them works
in either of the three departments
of a company viz. Production, HR
and IT with at least two of them
in a department.

(Note : None of the information
given is necessarily in the same
order.)

R works in HR department with
the one who likes Mumbai. S
works with the one who likes |
Patna. S does not work with R. P
works with only the one who
likes Delhi. P neither likes Patna
nor works in  Production
Department.

The one who likes Agra works
with the one who likes Jaipur.
Neither R nor Q likes Jaipur. Q
works with only T. U likes
Chandigarh. U does not work in
IT department.

Four of the following five are
alike in a certain way as per the

given arrangement and hence
form a group. Which of the
following does not belong to that
group

(R

(1) V - Kolkata
(2) P - Patna
(3) Q - Jaipur

(4) S - Chandigarh
(5) T - Agra

Who amongst the following likes
Kolkata 7

(1) R (2) P
(3) T (4) S
(5) Q

Which of the following

statements is true as per the given

arrangement ?

(1) None of the given statements
is true

(2) R likes Agra city ]

(3) U works in the same
department in which S works.

(4) V works with only the one
who likes Chandigarh

(5) Both Q and T work in

Production Department
Which of the following
combinations represent the
combination of people working
in IT department ?

24,

25.

(1) S, P and the one who likes
Kolkata

(2) Pand V

(3) R and the one who likes
Mumbai

(4) The one who likes Agraand T

(56) T and the one who likes Patna
and Agra

Which of the following

combinations represents the

department in which V works

and the city he likes 7

(1) IT-Delhi

(2) IT-Kolkata

(3) Production-Kolkata

(4) Production-Patna

(5) HR-Patna

Read the following information

and answer the given question.

The number of workers joining

trade union in Company B has

decreased tremendously in the
past few years.

Which of the following can be a

reason for the decreased number

of workers joining these unions ?

(1) The wages and other benefits
offered in Company B are
better than that received by
workers in other companies.

(2) Social events and activities
for the welfare of society are
organised by the employers of
company B regularly.

(3) The employers in Company B
ensure that the grievances of
workers are received well in
time.

(4) The Management of Company
B considers the view of
workers in all decisions
related to their welfare.

(5) The intervention of
Government in regulation of
trade unions has decreased in
recent times.

Directions (26-30) : Study the

given information carefully to

answer the given questions. :

Seven people - P, Q, R, 5, T, U

and V live on seven different

- floors of a building but not

necessarily in the same order.
The lower most floor of the
building is numbered 1, the one
above that is numbered 2 and so
on till the top most floor is
numbered 8. Each one of them
likes a different watch— Casio,
Citizen, Fossil, Seiko, Tissot and
Fastrack, but not necessarily in
the same order.



20,

24,

219,

0.

U Hves on floor numboerad 4, Only two people live
hatwoen U and the one who likes Citizen, Only Lhree
peaple Hve betweon the one who likes Citizen ancl the
one who likes Fastrack, 8 Hves on one of the oven
numberad floors above the one who likes Fastrack,
Only one person Hves hetween S5 and the one WI'“f
likos Seiko, V lives one of the odd numbered floors |
holow the one who lkas Soiko, Only one person lves |
botweon V and the one who likes Fossil, P lives with
immediately above orfmmediately below the one who
likos Fossil, T lives immadiatoly above ', Only one
parson lives botween Q and the one who likes Casio.
The one who likes Tissotl lives on one ol the Hoors
abovoe the one who likes Omaega,

Who lives immediately below S ¢
i i

(2) ()

(3) LI

(4) Thoe one who likes Omaoegn

(5] The one who likes Tissol

. How many people live above the one who likes Seiko ¢
(1) Maore than throo (2] T'wo
[4) Nono (4] I'hrae

(5) One

Which ol the lollowing walches does T Hke 7
(1) Ohinega (2) Faslrack
(3) Fossil (1) Tiss01

(5] Lasio

On which of the following Hoor numbers does OQ live !
(1) 7 (2) 5

(3) 3 (4) 2

(5) 6

How many people live belween the one who likes
I“astrack and the one who likes Casio !

(1) None (2] O

(3) More than three (4) T'wo

(5) Three

Directions (31-35) : Study the following information
carefully and answer the quostions,

When a word and numboer arrangemont machine is
piven an inpul line ol words and numbers, il arrangoes
them following a particular rule, The following is an
illusteation of input and rearrangemaont.

(All the numbers are two-digil numbaoers)

Input : turn 12 64 mist hike 45 vasl 26 sile gale 72 56

Stlep
Step
Step
Step
Slep
Slep
Slep

ogate turn 12 mist hike 45 vasl 26 sile 72 56 84
[ : gpate | 12 | hiko 4! | 26 sile 72 506 84
¢ 72 galo turn 12 mist 45 vast 26 sile 56 84 hiko
I1: 72 gate turn 12 mist 45 vast 26 site 56 84 hik
I : mist 72 gate turn 12 45 vast 26 site 84 hike 56
IV : 45 mist 72 gate turn 12 vast 26 84 hike 56 site
V: turn 45 mist 72 gate 12 vast 84 hike 56 site 26
VI: 12 turn 45 misl 72 gate 84 hike 56 site 26 vas!
VI is the last step ol the above arrangement as the

intended arrangement is obtained,
As per the rules followed in the given steps, find the
appropriate steps for the given input.

Input
J1.

*15 role air 96 63 born with 77 like 39 some 52
How many clemenls are there belweon ‘with' and
‘horn’ in step IV 7

(1) Nono (2) Ona

(3) Two (4) Three

(5) Five

34,

34,

J6,

37,

J4.

34.

1 . ; s e *1H some 52 Loun
In which of the [ollowing steps ig "15 sOM l

conseculively in the same order 7
(1) Stap 1V {:;’:]}:'f[i':[f! VI
(3) Stap 1 (4) Step |
(5) Step HI

Which of the second element |
olamont from the left in the step 11 ¢
(1) 39 (2) like

() wilh (4) role

(5] afr g S s rlal v M
In step 1, '‘some’ 18 rolated 1o 77 [ollowing a cerlain

pallarn, Following the same |'Hll|1Hl‘I|. in Hiu[i ;ulf “-”“. |»,
celated to 06", In step 1V, 10 which ol the following is
horn' related Lo 7

(1) with (2) 63

(3) like (4) 34

(5] role

[n step 11 which element is 1
(1) Only ‘role’ (2) Both ‘born and

(3) Only "air’ (4) Only ‘some’
(5) Both ‘like" and “3%°

PART - |l : ENGLISH LANGUAGE

Directions (36-45) : Head each sentence [0 find oul
whother there is any grammatical error in it. The error,
I any, witl hein ;H_i,;? jr}un' u,"'h"m SEntence, Mark the part
with the error as vour answer. If there is no error, mark
‘No  error’ as _1I|"H!H' answer., (lgnore the error of
punctuation, if any)

Many cilizens are gravilating towards the nation's
socond-largost  State  because it olfer ample job
opportunitics.

(1) Many cilizens arve gravilaling

(2) towards the nation's

(3) second-largest State because it oller

(4) ample job opportuntlies,

(5] No error

Most African nations were largely shiolded from the
2008 linancial crisis by China’s insatioble demand for
nalural resources.

(1) Most Alrican nations were largely

(2) shielded lrom the 2008 linancial crisis

(4) by China's insatiable demand

(<)) Tor nalural resources.,

15) No error

Skeptics worries that the devaluation of the country's
currency is a desporale move o bail oul Hlt'uy,p,li‘ng
axporters.

(1) Skeptics worries that the devaluation

(2) of the country's currency is

(3) a desperate move Lo i

(4) bail out struggling exporters,

(5) No error

Consumers aro constantly heen oncouraged to take
advantage ol the lowered interest rates.

1] Consumers are l:ﬂllﬁllil‘lﬂ}f hoen

2) encouraged to take

13) advantage of the

(4) lowered interest ratos.

(5) No orror ;

ia o the left of the ninth

hotween ‘77 and ‘15 7
1 ‘2




40. Emergi
gin
dDmin B 2Cc
atine t >0Nomi
E];]E o EOTS gret.-ie news but | are |
S e or all (1) A
{2] dﬂmg Ng econo X Hlﬂjﬂ
ki n S LLEL SN :
[3] but l:];-;lltlﬂg thl’_} H]éliﬂ are [2] I:;L]]jep?ﬂrtlng Lglﬂpﬂneﬂt th
5 1d 1 3
(4) all the (3) ecc 1;1[.:.11 s rapid | gy are a Tittl
(5) N wron NOMIC the shape i e heav
) No er g reas (4) be ; growth h shape is wy, but 1k
41. With ror ons. (5 en growth -‘ o go back just right. 1 wi now
Age 80 percent of Di] NoO error of exporls. make thetn the WDI‘i{thHI just
th Jirectic lighter.” m out shop a
?mpl':’}”egﬂﬂzllatioﬂ, 5 Wil}rking 'm‘;‘}ﬂ"”i"f;:sp (46-55) : Read tl igiéltr,- said Le;n}?f Sﬂmethiii
or em , there is limi alread answ 9B assage o the A couple of | D
' 1 daly NSWel car : of v
l'3"~3'1’1tribLLEI,E}]LG} ment IB];I_lLE’d Tnc’l"fl Certain :i’te following ngj{‘ and Ea}lﬁd up Ru;jﬂf et Lenny
economic acti sirone owth to g].{,rEn e Erds'fphfﬂﬂﬁg fl{j:{:hhﬂnﬂ' - Eld Lenny. ;;1 I've done ltu'
[1] 1Wlth : églvitieﬁ ]-I":l‘ i_]] le]Dui_ them H"hﬂfﬂfd [0 h[,',lih VU]‘_: E} bt’-’;‘en 1:111155* I TllédEl u_lFTEIMDI‘kEEd thle
i e s answeri 2+ ocate and tiss , them out of
workin percent uture. questions ering som Jate issue t of w
: : 2] g . pape vood
[2} alrﬂad}:% E;EE pl‘_}pulatiﬂ?[ the | bGHEE LIPU‘H 3 ; ”Jf t!IIE *:f]e 50 111%}1[ I]?EZV ThESE thil'jus
limited mployed i 1[3}; name time, there ’ aniﬂ jumping " Sﬂt goling [D,
(3) for emr{ijﬂm . there is i vented ed Lenny E.!as a When Rudy 111” off the I-Q.Df]}
Mo ! 3 = enny already Arrive ? i
Cuml‘ihf Fl_l'lem_ ’ EDnPrﬂpt.innq 11 kinds ny lf‘Ead}. ot ed. Lenny was
(4) ecor lte stron growth 1 decided he One d: of wings. L e roof with oF
futt? g ﬂﬂti{g* syl ; going t - wanted todf}{ Lenny Hﬂdnt;]{ EHHF backed ul these
42. Th A “You’ Y old hi [T IRES and riel e ' 1-'Tth na 4
e global re crazy. Y s friend Rud ght off and L e wings b
asat al ecor St i o ou won't e udy. R enny gs broke
eing f rope an Y o see’, sai = said Rudy 1es next e of s
England, Url-hE]:‘ h* d ]Etpﬂ-l'l ent d":'hr EI-ld Lennv 5 Y. guESS “ tO thE& h ome
A) T 8 dece]erat-dn"l}?ered L began w ‘nltt) his 1_.‘,01_1{*11’1 So he weak lle}r may have b ouse. “ 1
for e ing growth. S e e i S M
r oI . week ; ) one . ght, he Sy will j ape 18 ] :
(2) sta v, slaved eeks. The saw Le worksh just go b 5 just
stagnati . of hi n one de nny fo shop a ack 1
Japan iif b /in  Europe Sriﬁlz workshop ii}trhhe came oul{ something Eitmake taoh ;u:hi
{3] b erh e1ng ' and Sk n his face. He « d Bl'Eat hlg E‘vf:l‘ap HlEt:}}l o as heavy as 0
(4)by E akip oc i i < o Rudy osue paper,” not as light a i
ingland’ ly, but y, lomortow Ac er,” said L Eaagelos
grow sland’'s  d caid Le I neec rrow | ouple of w enny.
(5) No e;:]l,] ' ecelerating “Didl *-;ﬂrllw. 1 your help.” called up Rig’“eﬂks s e
0 ;- you Te: Wines : el” : ny
g Lho gou . wings 7" ¢ really buil ings. 1 made I reworked th}
c 11’1’[[},!5 1 I " asked R ild son and bals them e
ould b S COROIIC B enny. adv. “Yes,” 1€ sawood. T out of w
e fade d mic gro ousk Prorre i es,” said look like bi . These thi Wen
Yaars 10 GOl ramaticall wig ough. I nec e a little 1 & Kill e bird’s wi e things just
populati 1e owing y as the drag the: eed you to 1ga Devil Hi ngs, Meet L
(1) Th;ﬂﬂ‘ 0 an aging Devil ]_filff lip to the lnlhehg me | When Rudy H;”& said ;LE;E i
) eoaniny some S . 1 made th p of Kill wWilgs: Thev _1‘1ved_‘ he s Ly
(T e oy el 1 i e i e o e
uld be heli m wi aying ENNY strap on t : Vv
Sl the }’Bafije dramatically “NREEIEI last vel:ﬁ: I built 111;:: l"lllmfnubtacked up E’:J?E Eings.
[4] w i allv b stall Don't . 2tenid Le - hil 5 owards eoa
ing to : > e too he you thi nny. ill. He didn’ the cres sal
(5) No err af 955 . ask heavy to ink that will as he e idn’t slow d ,EH of the
i EDHIHI‘}J”S - Lman 511;:‘ | o, I will i 1'05:‘ arted to lift ?E of the hill st
ill lareel eConoIl Ok. T wi plane,” sai ike a was flyi up into the ai ,he
u gely be st ic growtl ,ITwill b said Le hi ving! He y the air
s as the the third oul.” said I and we'l .He wa righer
arket pl .lmpﬂi:l; S 11 The n ' said Rudv V11 try HOW. s reallv 5 and
(1) T plunge is be a stock il lext morni 4 : “H and he  start getting high
ha count: en lessened ledwmgq o 1[Il"lg e o anl 1ﬂﬂdbtf.rmd e
S 4 b E al b th : o e a ; . r : AT I.T, :
2) lar e y's economic el Ve the hil s bt he
gﬂ y bB Etﬂbl 4 'i-'"x-"HJ asler I Tun _thﬂl'n Ol g ; to he ANSW quEStiE}h V
quart e in the thi ill get. T , the 1 15 udde swered vas
a5 thE 3 | wi“ ]D mrﬂl ]f . Y WwWere st [ CEd that h 3
impa i qu : e ﬂ}rl T 1t me 1 ' arting k is w1
market C Df 11te CcO *a ngr Sﬂ_id : lp T1SEIl S ot 0 ﬂ'}_el ngS
(4) i plun a stock b nfidentl Lenny - o high t. He I
) is been o 8t : acked up ab y. So, Le Vs starting to _that the st 1ad
5 (5) No error sened. started ru Ilninﬂut fifty feet nny to make theme-h b e h:n was
A T weight of g As he 2 had littl e wings. Pre e used
ih com W the wi ran, th - e tm : tty so
e nati ; pﬂﬂﬂ‘[’]t g : ear ou ; wings s 5 g flvine Vv win : on he
ation’s nt supportin lo t his 1 started t ying about gs and h
has b economi J lowe he down red mil
axDOIts een gr ic ust as h r to th got He ¢ toward iles an
- growth of hill, hi e got to the e ground r rashed into s the woods
Ekiédﬂ: legs gave crest of ﬂ][;,. aalli up. “Are y the trees. Rudb.
face. across the out and he : Bd “Yeah fDu all righ’[?"f Y
. “I guess ground on hi g "
you n his y goi , but 1
ma flv ; ng i : a
Ight bodv,’ s 1s oo fryin
ody,” said L rough g to



46. Why could Lenny nol fly the first

47.

48.

49.

50.

lime around with the wings he

had designed 7

(1) These were not tied securely
and fell off.

(2) These were made of a material
which melted in the rain.

(3) These broke on jumping off
the cliff.

(4) These were too light to help
carry his weight,

(5) Other than those given as
options

Which of the following is true

according to the story ?

(1) Rudy too tried to fly with the
help of Lenny's conlraption.

(2) Rudy was as brilliant as
Lenny when it came to
inventing things.

(3) Lenny had to pay with his life
in order for his dream to
become a reality.

(4) Although Lenny did manage
to fly in the end, he did not
know how to land.

(5) All the given statements are
true

Choose the word which is most

opposite in meaning to the

word(s) given in bold as used in
the passage.

‘Backed up’

(1) Proceeded
(3) Supported
(5) Jumped
Which of the following can be the
most appropriate title for the
story 7

(1) Lenny-The Flying Inventor
(2) The Story of Rudy

(3) The Failure Named Lenny

(4) How to Make Airplanes

(5) Flying Across a Cliff

Which of the following cannot be
said about Lenny ?

A. Lenny successfully

from his mistakes
improved upon them.

B. Lenny sought Rudy's help
several times so that he could
use his wings to fly.

C. Lenny continued to make
better wings for flying till the
end of his life.

(1) Only A

(2) Only A and B

(3) Only C

(4) All A, Band C

(5) Only A and C

(2) Protested
(4) Topped

learnt
and

53.

a4.

3.

Cresl
(1) Depth (2) Bottom
(3) Back (4) Peak
(5) Feather
. Which one of the following

. Choose the word which is most

opposite in meaning to the
word(s) given in bold as used in
the passage.

aspects of Lenny's personalily
comes across very strongly in the
story 7

(1) He was an extremely friendly

r— e ——

person and made a lot of
friends.

(2) He was physically very
strong.

(3) He excelled at studies,

(4) His imagination was
completely out of control.

(5) He was determined and |
focused. |

Choose the word which is mosl

similar in meaning to the word(s)

given in bold as used in the

passage.

Rough

(1) Smooth

(3) Uneven

(5) Spotted

Which of the following can be

said aboul Rudy 7

A. He was in fact jealous of
Lenny. |

B. He was a supportive friend.

C. He never once questioned
Lenny’s ideas.

) Only A

) Only B

) Only C

(4) All A, B and C

(5) Only A and B

Choose the word which is most

similar in meaning to the word(s)

given in bold as used in the

(2) Coarse
(4) Harsh

(1
(2
(3

passage.
Wear out

(1) Sport (2) Bear
(3) Tire (4) Done

(5) Display

Directions (56-65) : In the given
passage, there are blanks each of
which has been numbered. These
numbers are printed below the
passage and against each blank
five words are suggested, one of
which fits the blank appropriately.
Find out the appropriate words in
each case.

The progressive changes
introduced by the Centre to the
rules governing grant of passports

a6.

27.

a8.

were long  ..(56).... They
simplify, in great measure, the
paperwork needed for an Indian
citizen to get the document. In
order to ...(57)... applications to
prevent impersonation, some of
the earlier rules may have made
sense at some point of time, but
over the years the bureaucratic

...(58)... that the
...(59)... requirements posed to
...(60)... applicants were S0

severe that many had to knock on
the doors of high courts for
remedy. Some rules were
targeted at women. The most
specious form of harassment of
women  passport applicants
related to those who were either
separated or divorced. Even
something as  rouline  as
...(61)... a passport withoul any
change of name or detail or
getting a passport in the name of a
child was a laborious process, as
passport officials insisted on
either the father’s consent or
demanded a divorce decree.
Following the ...(62)... of an
inter-minislerial committee
comprising officials - of the
Ministries of External Affairs and
Women and Child Development,
crucial changes have been
introduced. The application form
now requires only the name of
one parent, not both. This will
enable single parents to apply for

passports for their children
without the name of either the
father or the mother being

printed in the document. The
oo [63).ss that marriage
certifications and divorce decrees
should be provided has been
removed; the ...(64)... concept of
getting documents attested by
...(65)... or magistrates has also
been jettisoned, and
self-declarations on plain paper
would now be accepted.

(1) overdue (2) aboriginal
(3) untimely (4) prima

(5) proterozoic
(1) visual

(3) blur

(5) rigid

(1) absense

(2) predicate

(3) archean

(4) impediments
(6) premature

(2) opaque
(4) screen



59. (1) Eﬂmmufﬂd (2) delicate Directions (73-77) : In these questions, two equations
(3) harmonious (4) exquisite numbered [ and II are given. You have to solve both the
(5} cumbersome equations and choose the appropriate option.
60. %:-H adverse (2) detest Give answer :
enuine
(5) Ealletic Skt (1) x>y
61. (1) renewing [ abusive 2)Ifx=2y
{3] rude {4} lucid [3] I x<y
(5) mean (4) If x £y
5% [;] ?Cﬂmmendatigns (2) condemnation (5) If x = v or relationship cannot be established
Eﬁi . e 73. 1 #-6x=7
63. (1) implication (2) request Il 2y*+13y-15=0
(3) prevalent (4) stipulation 74, L 3x*-7x+2=0
e IL 2y* —11y +15 =0
64. (1) perceive (2) obsolete 43 i
(3) translate (4) gather 75. L 10x"-7x+1=0
(5) comprehend II. 35y° —12y+1=0
65. (1) notaries SN 5
%3} glance };ﬂ ;{eﬁ:;: o M: i
(5) construe : IL 2y" 13y +21=0
77. L 3x+7x=8
PART- 1l L. 6 (21 +1)=17y
QUANT”ATIVE APTITUDE Directions (78-82) : Study the following grapn to
Directions (66-70) : What approximate value should aiswer the given questions. v
come in place of question mark (?) in the given Data related to the number of students who joined
questions ? and left school in six years
2 1 Initial strength =3000
66. — of 1594 x4.493 =_ of ? W
7 2 = 600
(1) 4100 (2) 4800 =500 .
(3) 3800 (4) 3400 < 400 P R e
(5) 4900 =300 V ‘
87. 5376.12 = 11.956 + 7 = 55 5 200—
(1) 8 (2) 6 £ 100
(3) 10 (4) 12 R
(5) 4 g 2007 | 2008 | 2009 | 2010|2011 2012
68. 31% of 561.32 + 439% of 684.89 = 7% of 1735.23 "= Left School | 250 | 450 | 400 | 350 | 450 | 450
(1) 35 (2) 33 "o Joined School | 350 | 300 | 450 | 500 | 400 | 550
(3) 27 (4) 23 .
(5) 37 78. The strength of the school increased from 2008 to
69. 124.001 x 14.001 + 3.4999 + 2° =7 2009 by what percent ?
(1) 500 (2) 450 (1) 1.7% (2) 1.8%
(3) 525 (4) 475 (3) 1.9% (4) 2.0%
(5) 550 (5) 1.6%
70. 127.99 x 72.01 — (3.98)° =7 79. What is the total number of students studying the
(1) 9460 (2) 9600 school during the year 2010 7
(3) 9240 (4) 9200 (1) 3100 (2) 3000.
(5) 9280 (3) 3150 (4) 3250
71. A boat can travel 20 km downstream in 24 min. The (5) 2950
ratio of the speed of the boat in still water to the speed | 80. During which of the following pairs of years, the
of the stream is 4 : 1. How much time will the boat take strength of school was same ?
to cover 15 km upstream ? (in min) (1) 2008 and 2009 (2) 2010 and 2011
(1) 20 (2) 22 (3) 25 (3) 2010 and 2012 (4) 2007 and 2011
(4) 30 (5) 35 (5) 2009 and 2012
72. Ram purchased 40 dFJEEH nﬂ{el]ﬂﬂ}cs al % 40.per d'?z?ﬂ' 81. The number of students studying in the school in
* Hesold 10 dozen of it at 15% profit and the remaining 2009 was what percent of the number of students
30 dozen at 25% profit. "’?‘rhat is his percentage profil studying in the school in 2012 ?
in the whole transaction ? 2 1) 90.75% (2) 91.75%
(1) 18.8% () 207 3)92.75% (4) 93.75%
(3) 22.5% (4) 25% .
5) 89.75%

(5) 28.5%




82. For which of the following years, | (1) 240 (2) 360 94. Whal will bE.Lhi}T malie pglf;];t];ﬂ;}
the percentage rise or fall in the | (3) 420 (4) 600 aboye DOV EILy lnel,T;n below
number of students who left the | (5) 400 the femgle %}D,p%ldt P is 2.1
school compared to previous year | 91. A and B started a business by PQ‘T[?T[}"rllﬂe OL Lo :

15 maximum 7 | investing 4 18,000/- and million E]. .

(1) 2008 ? 24,000/- respectively. At the (1) 2.1 million

(2) 2009 end of 4 months from the start of (2) 2.3 1]1{]1?(]1’1

(3] 2010 | the business, G joins with (3) Z?’ l"ﬂﬂl}ﬂﬂ

(412012 ¥ 15.000/-. After 8 months, B (4) 3% m{ll?ﬂﬂ

=4 quits and C invests ¥ 3000/- more. (5) 3.5 million

1875401 At the end of 10 months B rejoins | 95, If the population of males below

83. A certain sum of money amounts with the same investment. If the poverty line for State Q is 2.2
lo ¥ 1,008/~ in 2 years and the profit at the end of year is million and that for State T is 6
same sum of money amounts to| 7 12.005/-, what is B's share of million, that what is the ratio
X 1,164/-in 3 yedrs and 6 II'H}]‘IHEH..E },]I‘Dfil ? (in 7) | between the total p[}pulaﬁmn of
Find the sum and the rate of| (1) Z 5,800/- States Q and T ?

]li.|l.2.J'l'.-:h|- | (2)  4,700/- (1) 1: 3 (2] 2D

1) < 900/-, 14% {3} 7 4 200/- [3} 3.7 [4] 4:9

(2) T 800/-, 13% (4) T 4,900/~ (5) 5: 8

(3] < 700/-, 12% ' () X 5,600/- ! . ; ation of State T
(4) T 800/-, 19% Directions (92-96) : Study the = 1[£ ”;Eg liiﬁligsptlillzn what is the
(5] - 4 700/-, 139 : f{IhJFE' and answer Ihf‘} gI.VE.'ﬂ diffﬂl‘ﬁ]lﬂﬂ h{.EtWE'BTl EhE H'lEllEf? -El-id

84. A can do a certain work in the | questions. female population below the
same ftime in which B and C| Percentage distribution of poverty line7
]HHE?FIH:‘]' can do it. If A and B : IJUPUIHHD-“ of five states P, Q1n R, [1] 0.7 million [2} 1.25 million
logel E1H‘.l' e..m?lri do it in 10 days I Sand T U“. the basis of poverty (3) 0:45 million (4) 1.62 million
and C alone in 50 days, lhen what line and sex S
lime will B fake to complete the | (| p : f (5) 0.17 million
ot State Percentage G roportion lﬂ 97. The difference bet_ween
(1) 15 davs Population males an compound interest and simple
(2) 20 days below ﬂ_lﬂ females interest on a certain sum al
(3) 25 davs | poverly line | polow | Abhove 12% p.a. for two years is X 90/-.
(4) 30 davs | the the What will be the value of the
[:—” 95 .l.lii-";."."i PﬂVETl}' l]'l]’i"ETt}' amount at the end of the 3 vears ¢
Directions (85-89) : What will line line (1) ¥ 9,000/ (2) X 6,250/
come in place of question mark (7 M- F N AR (3) ¥ 8,5630.80 (4) X 8,780.80
in the given questions ? . o EiE - (5) T 8,900/-

85. 6 14 36 9§ 276 ° ; ' : 98. The average age of a husband, his
(1) 836 (2) 974 Q 25 3:9 | 49 wife and son 3 years ago was
(3) 1104 (4) 794 R 24 ot 23 29 years and that of his wife and
(5] 584 g 19 9.9 473 son 5 years ago was 21 years.

86. 2 4 12 84 7 6526884 B ‘ What is husband’s present age 7
(1) 420 (2) 3762 1 15 Berd ol 302 (in years) |
(3) 3612 |3} apis 92. If the male population above the (1) 54  (2) 38 (3) 38
(5) 336 poverty line for State R is 1.9 ()44 = (5].47
87. 1 10 24 43 67 ¢ million, then what is the total| 99. Average weight of 25 boys in a
(1) 86 (2) 45 population of State R 7 class is 48 kg. The average weight
(3) 84 [4) 96 (1) 4.5 million of the class of 40 students is
() 134 (2) 4.85 million 45 kg. What is the average weight
88. 21 32 54 87 131 ? (3) 5.35 million of 15 girls in the class ?
(1) 296 (2) 168 (4) 6.25 million (1) 44 kg (2) 42 kg -
(3) 186 (4) 196 (5) 4.90 million (3) 40 kg (4) 39 kg
(5) 1 de 93. What will be the number of (5) 42.5 kg
89. ﬁ}igﬁ ! 343 II?IJ[12] - :imgllesi ng'?tthe ﬁlﬂt’iﬁ};;iﬁ’l ;If; 100. Tbe vulll,m:le of a wall, 5 times as
(3) 1}25 4) 216 e ]3 ol 1f="5 ! .HD, S high as it is broad and 8 times as
J) 1 - population o State 15 long as it is high, is 12.8 cm?. Find
(5) 324 _ million ? the breadth of the wall.
90. A train travelling ‘at 72 km/h (1) 3 million (1) 40 cm (2) 30
crosses a platform in 30 sec and_ a| (2) 2.43 million 3) 5 S
man standing on the plﬂ.[fﬂ[‘l?l in (3) 1.33 million cm (4) 10 cm
18 sec. What is the length of the (4) 5.7 million (6) 50 cm
nlatform ? (in melre) (51 5 million
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